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◆次の二次方程式を解け。

⑩ x2  6x6x  1  0⑨ x2  8x8x  1  0

⑧ x  12  1212  0⑦ x  22  1111

⑥ x  12  6464⑤ 25x25x25x2  7  0

④ 4x4x2  5③ x2  2727  0

② x2  7① x2  3636

＜　　　年   月   日＞
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◆次の二次方程式を解け。

⑩ x2  12x12x12x  7  0⑨ x2  2x2x  6  0

⑧ x  42  1818  0⑦ x  12  7

⑥ x  32  1616⑤ 4x4x2  1313  0

④ 9x9x2  7③ x2  2424  0

② x2  1010① x2  4949

＜　　　年   月   日＞
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◆次の二次方程式を解け。

⑩ x2  6x6x  1  0⑨ x2  4x4x  3  0

⑧ x  22  8  0⑦ x  32  5

⑥ x  12  2525⑤ 9x9x2  5  0

④ 16x16x16x2  7③ x2  1212  0

② x2  5① x2  1616

＜　　　年   月   日＞
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◆次の二次方程式を解け。

⑩ x2  8x8x  1010  0⑨ x2  10x10x10x  8  0

⑧ x  32  1212  0⑦ x  52  1313

⑥ x  12  9⑤ 16x16x16x2  7  0

④ 25x25x25x2  1111③ x2  1818  0

② x2  6① x2  2525

＜　　　年   月   日＞


